Home

Realtor

Algebra ALEKS Topics
Algebra Notes
Algebra Reviews
MAT0028
MAC1105

MGF ALEKS Topics
MGF Reviews

MGF Notes
STA2023

Stats ALEKS Topics
Stats Notes

Stats Reviews

Stats/

Calculating relative frequencies in a contingency table
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C: ing relative ies in a i table
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A sample of 248 adults is selected. The adults are classified according to their voter registration status and their
preferred source of current events information. The results are given in the contingency table below.
Preferred source of information B
Television | Newspapers Internet sites
Registered EX) 49 I 42
- [—

Among the adults in the sample who prefer to obtain their information through Falip, what is the relative frequency of
those who are’

Round your answer to two decimal places.
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C: ing relative q!

in a contingency table

A sample of 385 people is selected. The people are classified according to place of residence ("urban", "suburban”, or "rural"). They are also classified according to
highest educational degree earned ("no college degree", "two-year degree", "four-year degree", or "advanced degree"). The results are given in the contingency table
below.

No college degree = Two-year degree  Four-year degree = Advanced degree

Urban

39 41 21 22

Suburban

Rural 43 50 17 50
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What is @People in the sample whose place of residence is ho have an -

Round your answer to two decimal places.
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Calculating relative frequencies in a contingency table

A sample of 329 students at a university is surveyed. The students are classified according to gender ("female” or “male"). They are also classified according to major

("biology", "business", "engineering", "mathemati¢s", o™computer science"). The results are given in the contingency table below.

ale 40 18 37 18 50

\ 32 46 39 15 34

What is the relative frequency of biology majors |n\@5{nple"

Round your answer to two decimal places.
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Calculating relative frequencies in a contingency table

A sample of 301 people is surveyed. The people are classified according to political affiliation ("Democrat", "Republican”, or "Independent"). T
according to opinion on a bill ("in favor of", "opposed to", or "indifferent to"). The results are given in the contingency table below.
N

In favor of, Opposed to Indifferent to

Democrat

Republican

Independent
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